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6 0.192 4.877 0.203 5.16 0.1620 4. 11
7 0.176 4.470 0. 180 4.57 0. 1443 3.67
8 0. 160 4. 064 0. 165 4.19 0.1285 3.26
9 0. 144 3.658 0.148 3.76 0.1144 2.91
10 0. 128 3.251 0.134 3.40 0.1019 2.59
11 0.116 2.946 0. 120 3.05 0. 09074 2.30
12 0. 104 2.642 0. 109 2.77 0. 08081 2.05
13 0.092 2.337 0.095 2.41 0.07196 1. 83
14 0. 080 2.032 0.083 2.11 0. 06408 1.63
15 0.072 1. 829 0.072 1.83 0. 05707 1.45
16 0. 064 1. 626 0. 065 1. 65 0. 05082 1.29
17 0. 056 1.422 0.058 1.47 0. 04526 1. 15
18 0. 048 1.219 0. 049 1.24 0. 04030 1.02
19 0. 040 1.016 0.042 1.07 0. 03589 0.91
20 0.036 0.914 0.035 0.89 0.03196 0.812
21 0.032 0.813 0.032 0.81 0. 02846 0.723
22 0. 028 0.711 0.028 0.71 0. 02535 0. 644
23 0.024 0.610 0.025 0. 64 0. 02257 0.573
24 0.022 0.559 0.022 0.56 0.02010 0.511
25 0.020 0. 508 0.020 0.51 0.01790 0. 455
26 0.018 0.457 0.018 0. 46 0.0159%4 0. 405
27 0.0164 0. 4166 0.016 0.41 0.01420 0.361
28 0.0148 0.3759 0.014 0.36 0.01264 0.321
29 0. 0136 0. 3454 0.013 0.33 0.01126 0.286
30 0.0124 0.3150 0.012 0.30 0.01003 0.255
31 0.0116 0.2946 0.010 0.25 0. 008928 0.227
32 0.0108 0.2743 0. 009 0.23 0. 007950 0.202
33 0.0100 0. 2540 0. 008 0.20 0. 007080 0. 180
34 0. 0092 0.2337 0. 007 0.18 0. 006304 0. 160
35 0. 0084 0.2134 0. 005 0.13 0. 005615 0.143
36 0. 0076 0.1930 0. 004 0.10 0. 005000 0.127




BLE KB % OB 13-
LL7 #EFEAMSEREMMR (£17)
®17 HEREANSEEHENR

] L K
LB ZC AR B B I R
5 4 2.56 0.301 60 576
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2 10 16 0.2 80 1024
12 23.04 0.18 85
1.43 14 31.36 0.17 90 1296
1.24 16 40. 96 0.15 100 1600
1 18 51.84 0.14 110 1936
0.95 20 64 0. 125 120 2304
22 77.44 0.12 130 2704
0.7 24 92.16 140 3136
0.71 26 108. 16 0.1 150 3600
0.63 28 125. 44 0. 088 160
0.6 30 144 0.077 180 5184
0.55 32 163. 84 190 5776
0.525 34 185 0.076 200 6400
0.5 36 207 0. 065 230 8464
0.425 38 231 240 9216
0.4 40 256 0. 06 250 10000
0.375 42 282 0. 052 275 12100
44 310 280 12544
0. 345 46 339 0. 045 300 14400
48 369 0. 044 320 16384
0.325 50 400 0. 042 350 19600
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Mo L MERERROARKRT, $A05om, . | BH, BEERERILELK

Imm,

2. HE(F$ lin (25.4mm) KB EOFLEREH, 960K B/in, Blan: lin KE I
£ 20 fLER, ENH20 B,

3. —~REEREMERER, WHRKEANSER.



<14 - AR}
1.1.8 RNEKRSERTEE (#£1-8)
*18 RERSERTEE
s, | 90" Wit | LRER TR REF 2%
e | oo HIRALRT | ML | Ly | MAL | R | R R | SRR
P (LR | R+ (R F| R+ | RoF|RgF| TOFRA)
/pm /pm | (%) | /pm | (%) | (%) / pm
£ W M
16/18 1180/1000 1700 1180 8 1000 90 8 710
18720 1000/850 1400 1000 8 850 90 8 600
20/25 850/710 1180 850 8 710 90 8 500
25/30 710/600 1000 710 8 600 90 8 425
30735 600/500 850 600 8 500 90 8 355
35/40 500/425 710 500 8 425 90 8 300
40/45 425/355 600 455 8 360 90 8 255
45/50 3557300 500 384 8 302 90 8 213
50/60 300/250 455 322 8 255 90 8 181
60/70 250/212 384 271 8 213 90 8 151
70/80 212/180 322 227 8 181 90 8 127
80/100 180/150 271 197 10 151 87 10 107
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